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Finding the Inverse of a Matrix Using an Augmented Matrix
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Begin by forming the following 3 X 6 augmented matrix. Perform matrix row opera-
tions to obtain the identity matrix on the left side, and perform the same operation on
the right side of this matrix.
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The right side is equal to 47" That is,

-2 1 -1
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It can be verified that A™'4 = I, = A4™".

Note: If it is not possible to obtain the identity matrix on the left side of the aug-
mented matrix by using matrix row operations, then 4~ does not exist.
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